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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1.  Tenef TageH 91 U3 99 W Ak ifHerid: fag |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. T I F B 9 3iUSH TR H fhdl geR & Jfe / TR/ fo)iany™ gH W
et W % WA w1 wE A |

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.

3. uft A wA afed ®
All the questions are compulsory.

4. YIF I K S & TS IWR-Yew | & ferd |
Write the answer to each question in the given answer-book only.

5. oy & T ¥ sifd TuH oi are 9m ¥, 37 9t 9rl 1 T T WY waq
forg |
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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6. U HHER 1% W 9 (i, il iil, ivdN v ) § | T 9 F IW & IR
fashea (21, @, HTd ) § | WET fashed 1 SAUER SW-Yfasht d F=r{ar
dTfeTeRT s o .

There are five parts ( i, ii, iii, iv and v ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct

alternative in the answer-book at a place by making a table as
mentioned below :

U9 shHich e ST ohT TSR
Question No. Correct letter of
the Answer
1 (i)
1 (i)
1. (iii)
1 (iv)
1. (v)
1. @) = %% s= e =@ e 2
(31) HieA (9) STarisar
(F) (31) & (F) A (3) =9 q =E =T |
Which of the following is not characteristic of system ?
(A) Organization (B) Interdependence
(C) Both (A) and (B) (D) None of these. 1
() oA TR TR T AT B © |
(31) wfspan (&) fofem
() crafafe (3) TH A |A |
Information technology is applied for the technology of
(A) processing (B) decision making
(C) transmitting (D) all of these. 1
(i) HIEdH BT T
CHOREIRED (9) RUMHS
(F) (1) 31qen (&) () T 9 =+ Tl |
Feedback is
(A) positive (B) negative
(C) either (A) or (B) (D) none of these. 1
(iv) T SHa-h 1 &R
(37) SCE i STEATIhAl Tl TEa () T 1T
(@) (1) e (F) (3) =0 9+ T |

The stage of system life cycle are
(A) recognition of the need for change (B) feasibility study
(C) both (A) and (B) (D) none of these. 1
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11.

12.

13.

14.

15.

16.
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(v) Hfharcrs ga fore il ey & fad Swrh © 2

(1) 3= I g () A T Yo
(@) = =1 gered (7)) wTHaEH |
For which level of Management is the operational information
useful ?
(A) Top level management (B) Middle level management
(C) Lower level management (D)  All of these. 1
T W Y o R ¥ 2
What do you mean by system ? 2
YeMEfTeh T=1 hl FRYUTEA i TAAET |
Explain the working of Administrative System. 2
I WA o & & fafan |
Write down the function of Top level management. 2
T faveroo #1 § 2 35 wew fafau |
What is system analysis ? Write down its importance. 2
THo g0 THo i YR FIfST |
Define M.L.S. 2
A ST 9 39 1 qHeHd § 2
What do you understand by feasibility study ? 2
TANIST i STavTehdl FI TSl § 2 AHSET |
Why is the information needed ? Explain. 3

T ford yoR fondlt wd ot Frederdar § GuR g AR &1 9ehdl § 2 FUSET |

How is a system helpful to improve the operational efficiency of a

firm ? Explain. 3
Tere o T bl FHEEY |

Explain the levels of Management. 3
fareeroor qen yrew ( fesmew ) & wn s § 2

What are the differences between analysis and design ? 3

T TIeR™ Sfieq =k &l AT | 98 f6d YR a1 fagervur 9 grifyd § 2

Explain the system development life cycle. How is it related to system

analysis ? 5
T & % ( implementation ) ® BIH dreit fafys fsransti =t wwemew |
Explain the various activities involved in system implementation. 5
T o @™ & fawqa faa=m sifse |

Describe the System Maintenance in detail. 7

YA 3G Y8 q1 32hY sl GRYMG d Y GHEET |

Explain by defining the sub-system information flow and interface. 7
frofa geart @ ( Slo THo TWHo ) & fo=R 91 SUAm =i wyzmee | foi
Hearht a1 ( €lo THo THo ) qen fuld &1 & wed wrery sl fororer ¥ |
Explain the concept and uses of Decision Support System ( D.S.S, ).

Discuss the relationship between decision making and D.S.S.
3+4=7
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